y=-3x24+6x-2 92 IH=ZA

@ y=-3x2 9] Jejme} mafo] e},
@ A2 AHEEE 2] gt

AR HEE (-1,1) o]t}
@ y Z3te] w2 (0,-2) ot
® Zo] FHFAL x=10|tt

y=-3x%+6x-2

=-3(x2-2x+1-1)-2
=-3(x-1)%+1

® 912 257 nope] BEH|L B

517

40| 287} (1, 1)t




2.

(x=y)(x—y+4)+4 5 AFESNHA (ax + by + ¢)? 2] A7}

w2t oltf, a+ b+ c & F2?

@2 @ 4 ® 6 ® 11 ® 16

B

x-y=A¢ztsHa

AA+4)+4=A%+4A+4
=(A+2)?
=(x-y+2)°

wet a=1, b=-1, c=20|B2
a+b+c=1-1+2=2 0|t}




I Q17F 2

@ 2 Hj @?Hﬂ

@® 1 uj

@Sfﬂ

@ 3+3 uj

a2

=

9
= 16

a olBE A2 P He]




Mz o2 Al 9] x ghell tiste] th= Aol AHE W, a+ b+ ¢ 2
w@2?

ax?-3x-b -
42 +cx-5

@ @

01~
®
p|©
®
|

11 33
2 @7

N | =

—€B ~
ax* -3x-b - =

o s 2% “J2jotH,

(a-8)x>+ (-3-2c)x-b+10=0

o] Alo] A& th2 A 7h€] x gtoll thote] AHstE=Z x of tht
F5Aloltt,

et g -8=0, —3-2c=0, —b+10=0

3
“a=8,b=10, c = ——
a=3~8 0, ¢ 2

atbte=2 ol




)
o 2%

Y
ol

Foh?

4y = ax? + bx +c¢ O I o7}t ohSut 2 o, o}

y

/—10

D a>0 @b<0

@ a+b+c>0 ® a-b+c<

B

Ve

® c<0
0

O =2 EESEZ a<0

w2kA b < 0 ©|Th,

@y BBl 0| B2 ¢ 0
@Dx=19",y=a+b+c<0
@Ox=-19d,y=a-b+c>0

@ o] y %] 91Z0] QOB 4b> 0




